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QUESTION 1

What is the proper set of steps to execute a redirected restore and change the container paths for a database not using
automatic storage? 

A. Issue a RESTORE DATABASE command with the REDIRECT option;issue a SET TABLESPACE CONTAINERS
command;issue a RESTORE DATABASE command with the CONTINUE option; 

B. Issue a RESTORE DATABASE command with the REDIRECT option;issue a RESTORE DATABASE command with
the CONTINUE option; 

C. Issue a RESTORE DATABASE command with the ROLLFORWARD option;issue a RESTORE DATABASE
command with the CONTINUE option; 

D. Issue a RESTORE DATABASE command with the ROLLFORWARD option;issue a SET TABLESPACE
CONTAINERS command;issue a RESTORE DATABASE command with the CONTINUE option; 

Correct Answer: A 

 

QUESTION 2

A primary and standby database are enabled for HADR and are in peer state. The HADR_SYNCMODE configuration
parameter is set to SYNC. An application connects to the primary database, issues a COMMIT and receives a
successful return code in response. How were the log buffers for this unit of work processed? 

A. The log buffers were written to the DB2 log files on the primary server, sent to the standby, and written to log files on
the standby server. The return code was then sent to the application. 

B. The log buffers were written to the DB2 log files on the primary server and received in the log buffers on the standby
database. The return code was then sent to the application. 

C. The log buffers were written to the DB2 log files on the standby server and held in memory on the primary server.
The return code was then sent to the application. 

D. The log buffers were written to the DB2 log files on the primary server and sent to TCP/IP send buffer to be shipped
to the standby server. The return code was then sent to the application. 

Correct Answer: A 

 

QUESTION 3

The RECOVER command is used in an attempt to fix a damaged table space. What will the system do during the
RECOVER process? 

A. Create a new temporary table space if the damaged table space is a temporary table space. 

B. Restore the database and attempt to make as much of the database available as possible. 

C. Restore the database and bypass inaccessible containers and make the rest of the table space available. 

D. Prompt the user for new container definitions for damaged or missing containers. 
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Correct Answer: B 

 

QUESTION 4

The DBA needs to create a table with key columns YEARMONTH and YEAR. This table needs to be partitioned by
column YEARMONTH with three months per data partition. Additionally, data needs to be organized by column YEAR,
so that all rows within any three month date range are clustered together based on 12 months of data. Which CREATE
TABLE statement will accomplish this objective? 

A. CREATE TABLE tab1(yearmonth INT,year CHAR(2))PARTITION BY RANGE (year) (STARTING 201001 ENDING
201012 EVERY 12)ORGANIZE BY DIMENSIONS (yearmonth)) 

B. CREATE TABLE tab1(yearmonth INT,year CHAR(2))PARTITION BY RANGE (year) (STARTING 201001 ENDING
201012 EVERY 3)ORGANIZE BY DIMENSIONS (yearmonth)) 

C. CREATE TABLE tab1(yearmonth INT,year CHAR(2))PARTITION BY RANGE (yearmonth) (STARTING 201001
ENDING 201012 EVERY 12)ORGANIZE BY DIMENSIONS (year)) 

D. CREATE TABLE tab1(yearmonth INT,year CHAR(2))PARTITION BY RANGE (yearmonth) (STARTING 201001
ENDING 201012 EVERY 3)ORGANIZE BY DIMENSIONS (year)) 

Correct Answer: D 

 

QUESTION 5

Given a SHEAPTHRES value of 2560, in which two cases will a SHEAPTHRES_SHR value of 1024 be meaningful?
(Choose two.) 

A. INTRA_PARALLEL NO 

B. MAX_CONNECTIONS 2000, MAX_COORDAGENTS 100 

C. MAX_AGENTS 100, MAX_CONNECTIONS 2000 

D. MAX_CONNECTIONS 500, MAX_COORDAGENTS 1000 

E. INTRA_PARALLEL YES 

Correct Answer: BE 
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